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General Instructions :
Read the following instructions carefully and strictly follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two Sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

(iv) This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION A
Macro Economics

1. Read the following statements carefully :

Statement 1 : Primary deposits are the cash deposits by general public
with commercial banks.

Statement 2 : Secondary deposits are those deposits which arise on
account of credit provided by the commercial banks to the
people.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

58/1/1 8> e P.T.O.
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The difference between National Income at market price and
National Income at factor cost is .
(Choose the correct alternative to fill up the blank) 1

(a) net indirect taxes
(b)  net factor income from abroad
(c) consumption of fixed capital
(d)  market price

OR

Identify which of the following represents only the real flow : 1

Goods and Services

Firms Household

(a)

Factor payments

Goods and Services

(b) Firms Household

Factor services

Factor payments

Firms Household

(c)

Consumption Expenditure

Goods and Services

) Firms Household

Consumption Expenditure

<5 > = P.T.O.
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The rate at which commercial banks borrow from the Reserve Bank of

India to meet their long term requirements is known as

(Choose the correct alternative to fill up the blank) 1

(a) Margin requirement
(b)  Bank rate
(c) Repo rate

(d)  Reverse repo rate

Read the following statements carefully :

Statement 1: Borrowings by a nation from the World Bank to finance
Balance of Payment (BoP) deficit will be recorded in the

capital account.

Statement 2 : Autonomous transactions are independent of the

condition of Balance of Payment (BoP) account.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

Read the following news report carefully :
“The central bank has imposed fine on Hisar Urban Cooperative Bank
Ltd. and Andaman and Nicobar State Cooperative Bank Ltd. for violation

of banking norms.”

According to the given report, identify the function of the central bank. 1
(a)  Issue of currency

(b)  Banker to the public

(c) Banker to the Government

(d) Banker’s Bank

1> = P.T.O.
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6. (%) I FIA U F T = 4 A AF=d = (—) 60 7, A HHAfIRGd ¥ 4
& F9d Beld <l TgaM hifoT 1
(a) S=(-)60+025Y
(b) S=(-)60+075Y
() S=(-)60+020Y
(d) S=(-)60+060Y

AYAT

(@) few 7U ST ®eM C = 205 + 0-9 Y % fou, ewr ok w1 e
_wm) (7 e 9 % T EE faeeed @1 = i) 1

(a) 0-09
(b) 100
(c) 09
(d 90

7.  Tr=fafgd wuA o gfeu : Afiesed (A) 3R &I (R) | = few o faeredi &
T U Tdl faehew gihw 1

SYHIT (A) : T & TH &R 1%@ (Break-Even level) I qétﬁ T Ugd, 3Hq
3T SR (APC) %1 qe 3TE ¥ AT 8 @ |

HRU(R) :  3Ed IUAM TG (APC), T IUHN 9 Hol 3T HI LI

BT 8 |
ﬁWq:
(a) MR (A) 3T RO (R) S T & 3 w0 (R), AR (A) I
g U1 hidl & |

(b) AR (A) IR ST (R) I TcF 8, Afhd RO (R), ATHHAT (A)
1 Tl AT FgT AT B |

(c) 3P (A) T B, Wihd HRUT (R) JIEH 7 |

d) AR (A) T 8, Wfehd ST (R) I B |
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6. (A)  If the value of investment multiplier = 4 and Dissavings = (-) 60,
identify the correct Saving function from the following : 1

(@ S=()60+025Y

(b) S=(-=)60+075Y

() S=(-60+020Y

(d) S=(-)60+060Y
OR

(B)  For the given Consumption function, C = 205 + 0-9 Y, the value of
investment multiplier would be .
(Choose the correct alternative to fill up the blank) 1

(a) 009
(b) 10-0
(¢ 09
(d 90

7. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) : Before reaching the Break-Even level of income, the value
of Average Propensity to Consume (APC) is greater than

one.

Reason (R): The Average Propensity to Consume (APC) is the ratio of
the total consumption and total income.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(¢) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

58/1/1 9> e P.T.O.
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(A)  Suppose that, the Balance of Trade of a nation exhibits a deficit of
T 50,000 crore. The import of visible items are five times of
the exports of visible items. The value of exports of visible items
would be ¥ crore.

(Choose the correct alternative to fill up the blank) 1

(a) 20,000
(b) 10,000
(c) 12,500
(d) 20,300
OR
(B)  Gifts and remittances sent abroad are recorded on the side
of the account in Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1
(a)  credit, capital
(b)  debit, capital
(c) credit, current
(d) debit, current

Identify which of the following equations is true.
(Choose the correct alternative) 1
(a) MPC+MPS=0
(b) MPC+MPS=1
(c0 MPC+MPS>1
(d MPC+MPS<1

A situation in which an able bodied person is not willing to work at the
existing wage rate, is referred to as situation.

(Choose the correct alternative to fill up the blank) 1

(a)  Full employment
(b)  Involuntary unemployment
(c) Voluntary unemployment

(d)  Disguised unemployment

<11 > = P.T.O.
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11. (a) Distinguish between ‘Value Addition’ and ‘Final Value of Output’. 3
OR
(b)  Find the Value Added by Firm A, from the following information : 3
S. . Amount
No. Particulars (in < crore)
i) Purchase of factor inputs by Firm A 5
(ii) | Purchase of non-factor inputs by Firm A 2
(iii) | Sales by Firm A to other firms in the 10
domestic economy
(iv) | Import of raw materials by firm A from 50
rest of the world
(v) | Excess of opening stock over closing 3
stock

12. “There exists a positive relation between foreign exchange rate and
supply of foreign exchange.” Do you agree with the given statement ?

Justify your answer with valid arguments. 3

13. Describe the adjustment mechanism, if ex-ante savings are less than

ex-ante investments. 4

14. Read the following news published on September 26, 2022 :
“The central bank has increased the benchmark lending rate by 140 basis
points.”

Identify the likely cause and consequences behind this action taken by

the Reserve Bank of India. 4
15. (a) Explain the ‘Government’s Bank’ function of the central bank. 4
OR

(b)  Using a hypothetical numerical example, explain the effect of rise

in Reserve Ratio on credit creation by the commercial banks. 4

58/1/1 <1> e P.T.O.
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16. (a) “National Income is always greater than Domestic Income.” Do you
agree with the given statement ? Support your answer with a valid
reason. 3

(b) “In the estimation of Gross Domestic Product (GDP) using
expenditure method, focus lies only on expenditure by the
residents of the country.”

Do you agree with the given statement ? Give valid reasons for
your answer. 3

17. (a) (@) From the information given in the diagram, categorize the
items into revenue receipts and capital receipts, stating
valid reasons. 4

WHERE INDIA GETS ITS MONEY FROM?
For every ¥ 1 that the Govt. earns

Corporation tax ~————  Recovery of loan
21 paise 3 paise

~_ Non-tax revenue

Borrowings 9 paise

and other liabilities,

20 paise
GST and

- other taxes

19 paise

Customs

4 paise Income tax
16 paise

Excise duties : 8 paise
(i1))  Distinguish between Revenue deficit and Fiscal deficit. 2

OR

58/1/1 18> e P.T.O.



@ collegebatch con

(@) ) Te=faRaa stiest grr, st = &t ToFT i 3
s Tfer
(1) USTES 1T 40
(i) | Rk giva gsfima srfet 190
(111) | pL TSI 125
(iv) | e == 220
(v) | AN Yidi- 20
(i) GThR ooie & ‘sTidfer feomar &l <hl s hifsu | 3
Qs @
R i faemma

18. Tr=feiRad et 1 eaHgEs qfeu :

F97 1 : TSIl IMEA & A N HI FAGERTHR, 1875 R 1900 6 ALY
AR 3TehTd o foTu e o |

FY72 : TSN MDA W, YRG W ol HIid TRY T feam on |
feu U oAt & snedes 0, fafafea @ o g8 fasew &1 =9w Fifs . 1

(a) HIT 19T 3 N hd 2 379 7 |
(b) HIT 13T 2 N FIT 2T 2 |
(¢) HIT 13N 2T a8 |
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(b) @) From the following data, calculate the primary deficit. 3

S. Particulars Amount

No. (in ¥ crore)

(1) Revenue deficit 40

(i1) Non-debt creating capital receipts 190

(iii) Tax revenue 125

(iv) Capital expenditure 220

(v) Interest payments 20

(ii)  Elaborate ‘Economic stability’ function of the Government

Budget. 3

SECTION B

Indian Economic Development

18. Read the following statements carefully :

Statement 1 : Commercialization of agriculture under the British rule

was responsible for frequent famines between 1875 and

1900.
Statement 2 : During British rule, India began to export food grains.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/1/1 <lar> e P.T.O.
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19. (A) Read the following statements carefully :

Statement 1 : The purchase of food grains made by the
Government on the Minimum Support Price (MSP)
is maintained as buffer stock.

Statement 2 : Minimum Support Price safeguards the farmers
against any sharp fall in farm product prices.

In light of the given statements, choose the correct alternative
from the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

OR

(B)  Identify the incorrect statement from the following : 1

(a) Import substitution was the strategy used to save foreign
exchange.

(b)  License policy ensured regional equality.

(c) Russian economic model was the base for the Indian
economic system.

(d) Small Scale Industries are one of the essential tools for
employment generation.

20. Mini-hydel plants are good for the environment because : 1
(1) they generate electricity only for local areas.
(ii)  they do not change the land use pattern.
(i11)) they rely on the perennial streams.
(Choose the correct alternative)
Alternatives :
(a) (1), (i1) and (iii)
(b)  (i1) and (ii1)
(c) (i) only
(d (@) and (ii)

58/1/1 e P.T.O.
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(A) The Great Leap Forward (GLF) campaign in China focused on
(Choose the correct alternative to fill up the blank) 1
(a)  Widespread industrialisation
(b)  New agricultural strategy
(c) Privatisation

(d) Economic reforms

OR

(B) India is not a member of which of the following regional / global
economic groups ? 1

(a)  European Union

(b) BRICS
(c) G20
(d) SAARC

‘Skill India’ programme launched by the Government is not an attempt to
increase in India.

(Choose the correct alternative to fill up the blank) 1
(a) human capital formation

(b)  efficient utilisation of inputs
(c) increase in GDP growth

(d) inadequate spread of vocational education

Identify the correct alternative with reference to the following
statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real life
situations prevailing in the countryside of China.”

(a) Commune System
(b)  Great Leap Forward
(c) Open Door Policy

(d) Great Proletarian Cultural Revolution

<1 > = P.T.O.
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24, Tmfafad weAi w1 eyEs ufeu
FYT71 : WA I Ufchea™ gHi H, a1 & T & T yg@ 9id & ®9 §

IR |
FYT2 : VA o TSI < T, =4 <hl ST Teamem T Haifereh 2 |
feu U el % AT H, Efaiad # 8 wE) ooy w1 =e hifv 1

(a) AT 1T 3 N HI 23T 8 |
(b) HIT 1T R AN FIT2HT 8 |
(¢) AT 13M 2N T2 |

(d) YT 13 2T 3T 7 |

25. (%) 9 g S 9 FRREST o TR 4 (pay-roll) R FI® B 3,
Heh o €9 H I 914 3 |

(Teh T 9 & fore @&l fashed o1 =@ hifve) 1

(a) TG

(b)  ITHICTH

() Trafm

d) 9EH
HAYAT

(@) USR-fEH Fglg, SUSHI i Icqd HLd! & HiTeh |
(Teh T W & forw g&l fasheq &1 =3m difse) 1
(a)  Hfteh TR S A A1 B &
(b)  =iftek QaTd sgd #Eh Bl 8
(¢) Tormm @t +u Bt 2
(@ ToeprE enfiehl % Hror g g

26. Tt T iy woa & a9 fafayg ger hl wEdl & I Hl
el I 7 | (Teh Tom A & faw @&l fasew w1 =@ il
(a) waal 1 fafaefieo
(b) Y Icured o fafaefien
(¢) &zl ° fafaefiemto
@) R 1 fafaefieom
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Read the following statements carefully :

Statement 1 : In both India and Pakistan, the service sector has been
emerging as a major source of development.

Statement 2 : Amongst the neighbours of India, China has the highest
life expectancy rate.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

(A)  Workers who are on the permanent pay-roll of their employer are
called workers.

(Choose the correct alternative to fill up the blank) 1
(a)  self-employed
(b)  casual
(c) regular
(d)  hired

OR
(B)  Jobless growth leads to unemployment because .
(Choose the correct alternative to fill up the blank) 1

(a)  Labour refuses to migrate
(b)  Labour is very expensive
(c) Growth rate is low

(d)  Growth is due to technological development

Production of diverse varieties of crops rather than one specialized crop is
called . (Choose the correct alternative to fill up the blank) 1

(a)  diversification of crops
(b)  diversification of agricultural production
(c) diversification in sectors

(d)  diversification of employment

<23 > = P.T.O.
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27. fmfafed sl 1 SIHyds afeu
FYT 1 : YA = AU TAH TS ST h O 1951 T Y oft |
FIYT2 : WA, ke d =4 7 i feiem &1 o0t g o wrifa
o TR 9 STIERT o7 |
feu U el % AT H, faiad # 8 wEl faeed w1 we hifve 1
(a) HIT 1T 8 3TN HAT 2 AEH 8 |
(b) HIT 1IHT 8 MM FAT 2T B |
(¢) o 13N 28 dcT & |
(d) HAT 13K 231 A B |

28. fou v fum & =ame, adue gt gHfaa & YR Wi ¢ 3

A 4

T T 57 e gRaTfa a3 g T w28 % T w A
foreht ueh aqam wafaefie g 6 smen Hif |

29. (%) wRa # 7wfior fowm@ i wfskan # gmfior SR womelt i ofiehr @

STATEATCHh HTehd HITTT | 3
AT

(@) “Tl. U, T Td fdfehcae, offde €9 & US 3ot ® 19T

fafrcare™ (clinic) I@M o | I TULRRA 3Tcd I 3Rid R ©@ o |

S}Hﬁ;?q, 38 e T kT AT fohaT qAm 39 YIS H € TRT 1 =9

|77

1. GUHT o g fohU T = o I8 YehR ol UgTHT AT SATET ShifaT,
forem A doft famfor fseean & geaer w9 @ e fean 2 | 3
30. UIfehtd™ H et Hafg @ IH: AT 3TH o W= RO sl =rET HiT | 4

31. (%) 3Nefies Hifq w=dma, 1956 % FAdTid AREG TS & 6D & dohl ol T&T
o 99y | 3
(@) wgusha s i i T | 1
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Read the following statements carefully :
Statement 1 : India announced its First Five Year Plan in 1951.
Statement 2 : India, Pakistan and China adopted economic planning as
the core development strategy.
In light of the given statements, choose the correct alternative from the
following : 1
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

Interpret the given picture, on account of current environmental
challenges : 3

Note : The following question is for the Visually Impaired Candidates

only, in lieu of Q. No. 28 :
Explain any one current environmental challenge.

(a)  Critically evaluate the role of rural banking system in the process

of rural development in India. 3
OR
(b)  “Dr. Khurana, a dentist, ran his clinic in an economically

backward area. He was earning a comparatively low income. So, he
decided to move to a city and spent a huge amount for the same.”

Identify and explain the type of expenditure incurred by Dr.
Khurana, which directly contributed to the process of human

capital formation. 3
Explain valid reasons for the slow growth and re-emergence of poverty in
Pakistan. 4
(a) Explain briefly the rationale behind the ‘License Raj’ under the

Industrial Policy Resolution, 1956. 3

N

(b) Define Multilateral trade.

58/1/1 e8> e P.T.O.
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(%) [ dhl Gfgd, Ieoi@ Ud AR Hifvre fo fafafga e oo 2
1T A
‘[ H, AN STITEAT 7 HREEA NIRRT Hl AR AT
foepra fepm 2 17

reran

(@) “9Rd T AW 60% FHAR TR § R 8 | TS sJfhen o
319 TSR & B <hl U1 ATeIhad & |7
T AP & €Y U, TWSHH ARRAl & U Afes 31 USHTK

[

gHfeea & & foau fobg 9IH a0l fohegl @ UM o1 AR oI
e

(®) (1) Trafe Saaweh sderfen 3 afgend 5 w0 8 2
(i) =g §efit T Aifoe 3ol 7 o= w98 Shif |

HAYAT
(@) (i) YRd ¥ grefiy faem aea &= § wina foedt we wHifa =&
3odi@ F =1 hIfaU |
(i) T YA H HEH-RU1 FHRASHH % HEd s G&Y H €] hi |
feferiiga e = %WW%Q°

Hifa s * AT, W 7 fefea deoi 6 {[%r%ﬂ % fau defihe oy

3T & | 39 Wediad id & U U fames gien d¥mr o sl STeavehal

3 |

Hifg s T e fod “Digital Banks : A Proposal for Licensing and

Regulatory Regime for India” o e & fou fefsea d wmafm g fames

LT & U UH Gien 9 UsHY Yei fham 8 | 9Rd & @rai-e fsfoed

gHEE @, TR ®9 § Thihd WM 3%d (UPD) 5 38 FHKT W

ThAATYEh FTT fohall B |

YR o |, YA 39 TG Th b STehTT @ial ohl FaTeld i hl HITL W 7 |

a0 8 A ﬂ‘ldl%,%%&?ﬁﬁﬁ@@ﬁﬁ%‘muqd i o fIw wRd

o T dehehi {«dTeh SAS! 2

fsforea sifepm, Swammrat =t fafia ‘o’q?frﬁl?n foeti ol Y w1 U

TaaTfetd YA Sishan s <t erufa gar 3 | fefea i we gwamator #th

Tehell GgT o Agd i i A BT 8 | Thdl Ugd THTS I AIcHIEd hih,

%ﬁwéﬁnwﬁm%ﬁwﬁuﬁéﬁaw@% |

feu T ey qen wT Wy % oMYR W fefaRed yei % 3w e

(%) ura § Hifd smm 3 forg gren o1 gfceenfua fram 2 2 Hifa s/ &
U AT i & ?

(@) fefea s = fopedl g g Tl &1 Ieoi@ 9 9=t il |
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(a) State and elaborate whether the following statement is true or
false, with valid arguments :
“Indian economy has showed satisfactory progress towards
formalization of workforce in the recent past.”

OR

(b)  “In India, the self-employed constitute around 60% employees. The
possible incidence of under employment is the highest among the
self-employed.”
As an economist, suggest and elaborate any two measures that
may be taken to ensure more productive employment for the

self-employed.
(a) @) Why are less women found in regular salaried employment ?
(i1))  Distinguish between human capital and physical capital.
OR
(b) @) State and discuss any one strategy involved in attaining

sustainable development in India.
(i1)  Discuss briefly the importance of micro credit programme in
rural India.

Read the following text carefully :
According to NITI Aayog, India has a technological advantage to
facilitate digital banks. There is a need for creating a regulatory
framework for promoting this.
NITI Aayog, in its report titled “Digital Banks : A Proposal for Licensing
and Regulatory Regime for India”, offers a template and roadmap for a
digital bank licensing and regulatory regime for a country. India’s public
digital infrastructure, especially Unified Payments Interface (UPI) has
successfully faced this.
With Aadhar, India is at the cusp of operationalizing its own open
banking framework. This demonstrates that India has the technology
stock to fully facilitate digital banks.
Digital banking allows a user to set up automatic payments for regular
utility bills. Digital banking enables fund transfers to reduce the risk of
counterfeit currency. By promoting a cashless society, digital banking
restricts the circulation of black money.
On the basis of the given text and common understanding, answer the
following questions :

(a)  Which institution has been replaced by NITI Aayog in India ? Who
is the ex-officio Chairman of NITI Aayog ?

(b)  State and discuss any two main advantages of digital banking.
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